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https://www.r-project.org/
https://rstudio.com/


install.packages("dplyr") 

install.packages("plotly") 



--- 

title: "Citace" 

author: "Pavel Šenovský" 

date: "24 7 2020" 

output: html_document 

--- 

 

 

 

 

 



```{r název, include=FALSE} 

 

Kód v R 

 

``` 

 

 

 

 

 

 

https://rstudio.com/wp-content/uploads/2015/02/rmarkdown-cheatsheet.pdf
https://rstudio.com/wp-content/uploads/2015/02/rmarkdown-cheatsheet.pdf
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tabWoKVse = WoKvse %>% 

  select(rokPublikovani, iso690, pocetAutoru) %>% 

  group_by(iso690, rokPublikovani, pocetAutoru) %>% 

  summarise(pocetCit = n()) %>% 

  arrange(desc(pocetCit), desc(rokPublikovani)) 

tabWoKVse %>% 

  select(-pocetAutoru) %>% 

  kable(caption="Citace evidované ve WoK (včetně sekundárních publikací)") 

t = WoK %>% 

  select(rokCitace) %>% 

  group_by(rokCitace) %>% 

  summarise(pocetCit = n()) %>% 

  arrange(rokCitace) 

fig <- plot_ly(data = t,  

doi:10.1016/j.jlp.2010.08.003


               x = ~t$rokCitace, 

               y = ~t$pocetCit,  

               type = "bar") %>% 

        layout( 

          title = "Počet citací v letech (WoK)", 

          xaxis = list(title = "roky"), 

          yaxis = list(title = "počet citací")) %>% 

        add_text( 

          text = ~t$pocetCit,  

          textposition = "top middle", 

          cliponaxis = FALSE 

        ) 

fig 

h_index = function(tab){ 

  hIndex = 0 

  nAutori = 0 



  i = 1 

  for(cit in tab$pocetCit){ 

    if(cit > hIndex) {  

      hIndex = hIndex + 1  

      nAutori = nAutori + tab$pocetAutoru[i] 

      i = i + 1 

    } else { break } 

  } 

  result = c(hIndex, nAutori) 

} 

 

hVse = h_index(tabVse) 

hSCOPUS = h_index(tabSCOPUS) 

hWoK = h_index(tabWoK) 

hi_index = function(hIndex) { 

  result = round((hIndex[1]^2)/hIndex[2], digits = 2) 

} 

hiVse = hi_index(hVse) 

hiSCOPUS = hi_index(hSCOPUS) 

hiWoK = hi_index(hWoK) 

g_index = function(tab){ 

  citace = 0 

  i = 1 

  for(cit in tab$pocetCit){ 

    if((cit + citace) >= (i*i) ){ 

      citace = citace + cit 



      i = i + 1 

    } else { 

      return(i) 

    } 

  } 

  return(floor(sqrt(citace))) 

} 

gVse = g_index(tabVse) 

gSCOPUS = g_index(tabSCOPUS) 

gWoK = g_index(tabWoK) 

nWoK = tabWoK %>% 

  group_by() %>% 

  summarize(n = sum(pocetCit)) 

≥

i10WoK = tabWoK %>% 

  filter(pocetCit >= 10) %>% 

  group_by() %>% 

  summarize(n = n()) 

 

 



 

 

 

 

 

 

 

 

http://www.leidenmanifesto.org/uploads/4/1/6/0/41603901/leiden_manifesto_cz.pdf
http://www.leidenmanifesto.org/uploads/4/1/6/0/41603901/leiden_manifesto_cz.pdf
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